Lesson 4
Homerwork/Practice
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Pg 86 15. You have been asked to give a price for the shingling job shown. The homeowner just wants
a rough idea of the cost of this job.

1. Without using a calculator, estimate the square feet of roof covered.
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2. You charge $1.85/sq ft for simple shingling jobs such as this. Again, without using your
calculator, give a rough estimate of the cost of this job. Your estimate should be on the high side
because it's always better to estimate high and charge less than to estimate low and charge more.
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3. Time to get back to office and write up the proposal. I
a. Calculate the square footage of the roof. {(Round you answer to the square foot.)
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b. How much will you charge the customer? (Round to the nearest dollar.) MM;M
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¢.  Now add 10% to the price you found in b. to cover overhead. .
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d. Finally, determine how many bundles of shingles you should order if each bundle covers
33 sq ft of the roof.
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4. You have been hired to build a house with the crazy shape shown below. Calculate the area of

floor.
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